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Answer1

On the grid, shade the region that satisfies all these inequalities.
x+ty<4 y>x-1 y<3x

Label the region R.
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Answer 2

CLpnE THE UNudbLcp EELie

Show, by shading on the grid, the region defined by all three of the inequalities
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Answer 3

(a) Onthe grid, draw the lines x=1, y=2 and x+y=5.

The region R is shaded in blue on the diagram below.
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Answer 4

The lines y=x—-2 and x +y=10 are drawn on the grid.
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On the grid, mark with a cross (x) each of the points wit@oordinates that are in
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Answer 5

/fﬂ UNwATen

On the grid, shade the/region that satisfies all these inequalities.
——— o

y>1 x+ty<5 y>2
Label the region R.
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Answer 6
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Write down inequalities to fully define the shaded region.
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Answer 7
(b) Write R in the region where x=1, y=2 and x4+y=35.
For the inequality x = 1, the correct region is the one on the right of the line x = 1.
For the inequality y = 2, the correct region is the one above the line y = 2.

For the inequality x + y = 5, the correct region is the one on the right of the line x

+y=5.

Answer 8

(a) Given that x and y are integers such that /—,; (€3S 7‘;_( /(1\1

/
" & i 3 s
WH oL E NumRee 4 <y
andx+y=13

find all the possible values of x.
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Answer 9
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Answer 10

o

~1

Find the four inequalities that define the region that is not shaded.

It is important to note a couple of key points: A full line indicates a ‘loose’ inequality (ie. ‘<
or 2’), whilst a dotted line implies an ‘absolute’ inequality (ie. ‘< or >’). In addition, two of
the inequalities are simply horizontal and vertical lines meaning they relate exclusively to

y and x respectively. Thus:

y<2andx2-2

The equation for the remaining inequalities can be worked by using the general

formula for a straight line (y=mx+c), where c is the y-intercept and m is the gradient.

dif ference in y values

The gradient is calculated as the . (use any clearly visible

the dif ference in x values
triangle to work this out). Take care to ensure that you differentiate between positive
gradient (slopes up from left to right), and negative gradient (slopes down from left to
right). To see which way round the signs go, test using a point in the shaded area and

check whether the inequality agrees and makes sense, otherwise correct to make the

inequality logical.

For the snegative gradient line: y-intercept =3 and the gradient = % =-1

This therefore gives an equation of y = -x + 3 and hence the inequality is y < -x +3

For the positive gradient line: y-intercept = 1 and the gradient = ﬁ = %

This gives an equation of y = %x +1 and hence the inequality is y > %x +1
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Answer N

URWANTED 1LEAlsN

On the grid show, by shading, the region that satisfies all three of the inequalities

x+ty<7 y< 2x y> 3 “ —_ '
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Label the region R.
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Answer 12

(b) On the grid below show, b

e region defined by the inequalities
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Answer 13
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Find the three inequalities that define the unshaded region, R.
The general equation of a straight line is v = mx 4 ¢ where m is the gradient and c is the y-intercept.

The dotted line has a gradient of 1 and a y-intercept of 0 so its equationis y = x

The other diagonal line has a gradient of% = _Taand a y-interceptof 6soitisy = —%x +6

Vertical lines all have equation x = k so this one is x = 2

The region is above (but does not include) ¥y = x so one inequality isy > x

The region is below (and includes) y = —%X + 6 so another inequality is y < —%x +6

The region is to the right of (and includes) x = 2 so the final inequality isx > 2
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Answer 14

43219 12 3 4 5 6 7 8
Write down the 3 inequalities which define the unshaded region.

First we identify the equations of the four lines which serve as the boundaries of the
region.

To get the inequalities, we pick a point inside the region (for example (2,5)), put the
coordinates into our equations and then change the sign to satisfy the conditions.

For example we have y=6-x and since for x=2 the function has value 4, which is smaller
than y=5, therefore we have the inequality y> 6-x.

It is important to realize that line for y=8 is a dashed line, so there is no equality possible.
Therefore the three inequalities are as follows:

y<8
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